Jasper County Bowling Association Directors Meeting

February 15, 2014 1:00 PM - 2:00 PM

Cardinal Lanes Conference Room - Newton IA

With due notice having been given in accordance with the bylaws and a quorum being present, President Tangeman called the meeting to order at 1:00 PM.

Board Members Present:

Arlyn Vink, David Anderson, Dustin Kingery, Gary Price, Jeff Van Blair, Larry Anderson, Ron Tangeman, & Troy Tabor

President Tangeman read the minutes from the previous meeting. Director Vink made a motion to accept the minutes as read, seconded by Director Van Blair, motion carried.

Old Business:

Director Kingery & Manager Anderson disbursed the Prize Checks, Certificates, & Awards to the County Tournament participants in the Sportsman League Tuesday February 11th before League competition.

Manager Anderson disbursed the following checks at the meeting:

Cardinal Lanes for \$710 (Team Event Lineage) to Director Van Blair

Mustang Lanes for \$360 (Doubles Lineage) to Director Vink

Mustang Lanes for \$340 (Singles Lineage) to Director Vink

Jasper County Youth BA for \$25.33 (Donations) to Director Van Blair (will deliver to Bev Van Blair)

Larry Anderson for \$16.05 (Frames for Certificates) to Manager Anderson

Larry Anderson for \$100 (Tournament Director Fee) to Manager Anderson

Manager Anderson gave Director Vink the Prize Fund Checks, Certificates, & Awards for the County Tournament participants from Mustang Lanes. Director Vink, President Tangeman, & Manager Anderson will disburse those items before the Monday, February 17th Monroe Men's City League.

Manager Anderson went over the finances for the recently contested County Tournament. Please see information below:

JCUSBCBA 2013-14 Championship Prize Fund

4-Man Team Event

4-Man Team Event								
#					Places			
Entries	Entry Fee	Lineage	Prize Fund	Total	Pd.			
	\$	\$	\$	\$				
9	80.00	40.00	40.00	360.00	3			
	\$	\$						
Total	, 720.00	360.00						
			Team Event					
#								
Entries	Entry Fee	Lineage	Prize Fund	Total	Pd.			
	\$	\$	\$	\$				
7	100.00	50.00	50.00	350.00	2			
	\$	\$						
Total	700.00	, 350.00						
Doubles Event								
#					Places			
Entries	Entry Fee	Lineage	Prize Fund	Total	Pd.			
	\$	\$	\$	\$	-			
18	40.00	20.00	20.00	360.00	6			
	\$	\$						
Total	, 720.00	, 360.00						
		Singl	es Event					
#								
Entries	Entry Fee	Lineage	Prize Fund	Total	Pd.			
	\$	\$	\$	\$				
34	20.00	10.00	10.00	340.00	11			
	\$	\$						
Total	680.00	, 340.00						
		All-	Events					
#					Places			
Entries	Entry Fee	Lineage	Prize Fund	Total	Pd.			
-	\$	\$	\$	\$				
29	3.00	-	3.00	87.00	9			
	\$							
Total	87.00							
	\$	\$		\$				

1,497.00

Totals 2,907.00 1,410.00

Jasper County USBC BA 2013-2014 Financial Statement Tournament Director: Larry Anderson

Income:	Beginning Balance:			\$468.83
	4-Man Team Event Entry Fees (9 X \$80)	\$720.00		
	5-Man Team Event Entry Fees (7 X \$100)	\$700.00		
	Doubles Event Entry Fees (18 X \$140)	\$720.00		
	Singles Event Entry Fees (34 X \$20)	\$680.00		
	All-Events Entry Fees (29 X \$3)	\$87.00		
	50 / 50 Raffles	\$80.00		
	Youth Bowling Donations	\$25.33		
	Brackets	\$4.00		
	Income		\$3,016.33	

Total Income	\$3,485.16
I otal income	\$3,483.16

Expenses:				
	4-Man Team Event Lineage (9 X \$40)	\$360.00		
	5-Man Team Event Lineage (7 X \$50)	\$350.00		
	Doubles Event Lineage (18 X \$20)	\$360.00		
	Singles Event Lineage (34 X \$10)	\$340.00		
	4-Man Team Event Prize Fund Payout (9 X \$40)	\$360.00		
	5-Man Team Event Prize Fund Payout (7 X \$50)	\$350.00		
	Doubles Event Prize Fund Payout (18 X \$20)	\$360.00		
	Singles Event Prize Fund Payout (34 X \$10)	\$340.00		
	All-Events Prize Fund Payout (29 X \$3)	\$87.00		
	Youth Bowling Donations	\$25.33		
	Printer, Paper, Ink	\$108.49		
	Certificate Frames	\$16.05		
	Tournament Director Fee	\$100.00		
	Expenses		\$3,156.87	
Total Expenses				
Net Income After Expenses				

\$328.29

Ending Balance:

Discussion ensued about what Board Members heard from bowlers during the County Tournament.

There were some comments that the \$20 per Event fee was too high.

Another comment was if we were going to have a Ball Raffle.

A few questions about if we were going to have a banquet this year.

Manager Anderson suggested we make the Entry Fee \$10 per Event & \$3 for All Events next year. The Lineage would be paid by the Association. Director Van Blair suggested we state on the Entry Form that the Association is paying all Tournament Expenses & the Total Entry Fee is going to the Prize Fund.

President Tangeman suggested we hold 50/50 Raffles, Ball Raffles, Brackets, etc. during Leagues so some of the cost of covering the Lineage for the County Tournament can be recouped.

Director Van Blair stated he had not handed out any Scholarship applications yet. The junior bowlers have been busy on the recent weekends. Director Van Blair stated he would get the scholarship applications out within the next few weeks.

New Business:

Manager Anderson suggested the Association buy a copy of CDE's BTM-2013 Professional Tournament Software. This software package has a Bracket/Side Pot modules built in. Once the bowler information has been entered in the software, it can be brought directly in to brackets/side pots as needed.

Director Van Blair suggested we get it licensed so Mustang Lanes can use a copy of the software also.

Manager Anderson will check with CDE Software about the cost of obtaining 2 licensed copies of the BTM-2013 Professional Tournament software.

Director Van Blair suggested we hold a County 9-Pin Tournament to get bowlers to participate in a "fun" tournament. Discussion ensued about the format & when to hold the tournament. It was decided to make the format 4 Games of Qualifying (throw out low game) to a Step-Ladder finals. Cardinal Lanes could hold 1 on a Thursday evening, then Mustang Lanes could hold 1 on a Saturday afternoon. Dates & times to be firmed up at a later date.

Director Van Blair stated that Jason Mikkelson was interested in becoming a Board Member. Director Van Blair will invite Jason to attend the next Board Meeting

Date for the next board meeting was set to 1:00 Saturday, March 8th at Cardinal Lanes.

Director Van Blair made a motion to adjourn the meeting, seconded by Director Price, motion carried.

Meeting was adjourned at 1:50 PM.

Respectfully submitted by,

Larry Anderson

Jasper County Association Manager